BHARAT SCHOOL OF BANKING
TRIGONOMETRY

Q1.If cosB + sech = 2, the value of cos® 08 + sec® 8 is
(a) 4

(b) 8

()1 ~

(d) 2 \0
S1. Ans. (d) @
N

Sol. cos B +secB=2

Put 6 = 0° )
Cos0°+sec0°=2

=>1+1=2=2=2

= cos®0 + sec®B

= c0s® 0°+ sec® 0’
=(D°+(1)°e=1+1=2

A7

Q2.1f 5tanB = 4, then 2SN 03000 i equal to
2
(@3

1

(b) 7

4
1

(c) -

6
1

(d)

3

5sinB+2cos B
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S2. Ans. (c)

Sol.~.5tan6=4

4 hHsinB-3cosH
= tanb6 = -,
5 b5sinB+2cos0

Divide numerator and denominator by cos 6

sinsg cose
__2cose “coss __ otane-3

— _sins cose —
cos 8 cos#h

(5x2)-3 _
(5><§)+2

5 tan 8+2

1
6

AN

Q3.1fcosB + sin 8 = 2 cosB, then cosB - sinf is
(a) V2tan 0

(b) —v2 cos ©

(c) —/2sin 0

(d) V2sin®

.
N
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S3. Ans. (d)

Sol.cos8 +sin® = /2 cosH

Squaring both sides,

= c0s20 + sin? 0 + 2cosOHsin® = 2 cos? 6

= 2c0s* 0 — cos’ 0 — sin’? 6 = 2 cosHsin b

= cos? 0 —sin? 6 = 25sin6.cosO

= (cos B —sinB) (cosB + sinB) = 2sin 6. cos O
= (cos B — sin 0) (\/E CoS B) = 25sin6.cos 0

2sinB.cos0

\Ecnsﬁ

T
NN

Q4. The value of

cos® 60°+4 sec® 30°—tan?® 45°

Eiinz 30°+cos? 30°
(a) E
(b) g
(c) 5

67
CIE

= C0S0O —sinb =

=\/§51n9
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S4. Ans. (b)
Sol.

cos® 60°+4 sec® 30°—tan” 45°

sin2 30°+cos2 30°
@) &
o 1 \
(.~ sinA+ cos?A=1) %&
1 4 % 4 1 16
—1+ ; —1—1+?—1 y

3+64—-12 _ 55
12 12

p sec 8—q cosec B

Q5.Iftan B = E, then what is

p-q
(:a] P;‘q
b q —p
p?—q?
(d)1

AN

55. Ans. (c)
Sol.
D

tan® = =
o]

P sec® — q cosec @

equal to?
p sec B84 q cosec 6

2

P sec® 4+ q cosec

P sec g )
cosec 8 (cosec e 9

D sec g )
cosec O cosec 4

P tan® — q
pPtanmn © + q
P _

P =g a
=]
P>xg+ta
p® — g~
P2+ g
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Q6. The value of (1 + cot 6 - cosec 0) (1 + tan 0 + sec 0) is equal to

(a) 1
Nl

(b) 2

(c) O
(d) -1

S6. Ans. (b)

Sol. (1+ cot O - cosec 0)

(1 +tan O + sec 0)

Put, 0 = 45°

= (1 + cot 45° - cosec 45°)
(1 + tan 45° + sec 45°)

=(1+1-V2)(1+1++2)
=(2-+2)(2+2)
=[22-(v2)']

=4-2=2

SR

Q7. The elimination of 6 from x cos 6 -y sin 6 =2 and x sin 6 + y cos 6 = 4 will
give

(@) x? +y? =20

(b) 3x2+y%2 =20

() x%2—y% =20

(d) 3x2 —y? =10

K/
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S7.Ans. (a)

Sol.xsinO +ycos0=4

Squaring both sides,

x%sin“0 + y? cos? 0 + 2xysin6.cos 6 = 16
xcos0-ysin0=2

again squaring both sides,
x%cos? 0+ y?sin®0 — 2xy sin6.cos 6 =4
on adding equation (i) and (ii),

(x? + y?)(sin® 0 + cos? 0)

=16+4
x%+y*=20
N\
~N\)
Q8.1Iftan B = w, then sin a + cos a is
SIn o+cos o
(a) +V2sin O

(b) + V2 cosO
1.
(c) + Esm[—]

1
(d) + 7 C0S 6

I

-1

. (i)
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S8. Ans. (b)
Sol.
tan 0 = sina—cosa

sina+cosa

Squaring both sides and after that adding ‘1’ both sides,
=1*+tan“0 =1+

(sina—cosa)?

(sina+cosa)?
=sec? 0

__ (sina+cosa)?+(sina—cosa)?

(sina+cosa)?
(~ 1+ tan?0 = sec?0)

2 (sin? a+cos? )

sec?0 =

(sina+coso)?
_ 1 _ 2
"~ cos20 (sina+cos a)?
1 2

cos B sinoa+cosa

= sina + cosa = +v2 cos 0
N4
Q9. If sec 6 + tan 6 = 5 then the value of
11
(a) —
13
(b) 2
15
(c) =
17
()

tanB+1 .
15
tanB8-1
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S9. Ans. (d)
Sol.IfsecO+tan0=5  ..(i)
~sec’f—tan?0 =1
(secO+tan 0) (secO-tan0) =1
(sec® —tanB) = % ...(i)

Subtracting equation (ii) from (i)
= (secO 4+ tan0) — (secO — tan0)

12
_tan6+1 _ —t1 1245 17
"~ tan6-1 *2_71 12-5 7

5 \ o
- \J

Q10. If(sina + cosec a)? + (cosa + seca)? = k + tan? a + cot?a, then the
value of k is

(a)1

(b) 7

()3

(d)5

B
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S10. Ans. (b)
Sol.

(sina + coseca)? + (cosa + seca)? = k + tan® a + cot? «
Put a = 45°,
(sin45° + cosec 45°)? + (cos 45° + sec 45°)? = K + tan? 45° +
cot? 45°
1 2 1 2
=(5+V2) +(5+V2) =k+1+1
1 1 1 1
42+ (2v25) +5+2+ (22 x5)
=k+2
=4-+4-=k+2=k=7



